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NFEPAC L FEACB, BERTERRZA AC,~. CB 1 F@E PAC,

R PAC FEPAC , .CBLPA. eyt 5 43

(1) AAB=4H1PA=PC=2BNACHIP= 0, &£ OE, N OE//CB.

AZ

/)

X
.OELAC, HOPLAC,...OC, OE, OPHAEREE.
MLOARER, OC, OE, QP AX, YV, zHMBEARRITEEBLITA.

i20C = a(a>0), MC(a0,0), P(o,o,\/4 az), A(-3,0,0), B(a,2\/4-a2,0),
- AB=Ra2va-a0)AP-Go,V4 o’

515TE PAC 1—NEmEEH N =(0,1,0),

G FE PABRI—DERBA N, = (X ,2),

L |nAB -0 1E,[2a»<+2\/4-a2y_0
= S » 5T
[n,-AP-0 ]ax+\/4—azz:0

N, = Q/4— a’ ,—a,—a:

3 n-n J21
EEECO{Q’QN:'%-%[:\/Z%— a3

" PC = (/3,0-1)AB= V3,20, -

, Bly_Ja_a218Yy=-32=-a




RSB PC 5 ABFIREHRO ,
— —\ 3 3
man—m{H;Mﬂ—Zm%@g%mxwwmm%M%ﬁ@ﬁz --------------- 12 4

19, (1) BEGE, o

b=—"==3.53
0.15

Filla=y- bt = 7.44-3.53x0.73= 4.86,
PRLLy - 3.53t+4.86,
Rt=lgx, FRLLy- 3.53lgx+4.86,

FrLL 10 #525%1, X = 18¢, y-3.53Igl+4.86-4.86 (Ft)

BMiZok R 10 SEIRL A 4860 7T,
4%k SR 10 FER9F5D 5000 — 4860 — 140 (57) . -+rroorero- 54

(2) (i)
60 L - 1005 140 © . 180x £ =125
8 4 2 8

RPGRTIYEIRLE 125 FZGH. o 75
(RESESHEAE, THERS SRR AR OTRNHE SRR

AEEX | [40,80) | [80,120) | [120,160) | [160,200]

P |1 1

1 !
8 4 >

1

ZEHP M 3 MERESXNFAIEAY 7T,
My gY=TEEER{E A 1200, 600, 0, EH#mFIA:

120 | 60
Y 0
0 0
pls |12
8 4 8

ESZE(Y):§x1200+~i-x600+$x0:900,

ML 25 SR HITHGES 900 5. 124
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